LH5 710|=7} 2!

K1678_C

=25 *a““/lila ojojx|

-

Rost
frei

RAL7021
HE =4

E P

RAL 6032

© HEINRICH KIPP WERK GmbH & Co. KG

Fof &x|

i

RAL 2004

g Im
N B
i)
e
u

RAL 5017

I=0
AA

o} 24 9JS, L= ¢

se =y

€.
«

RAL 1021

et 2l

€.

RAL 7035

2
=

ojcil A

RAL 3020

gix AH|Ql2A A8 EMR C, & I‘.‘-I“I‘

ks

HiE &E:

QA ZHXE HESZ Qs &3 ARI7H Hets A

9lsH AHSEILICE. 73 HHE 180° S2I94 &3 Elo| 2424 2IxIZ Sotet
B3 /IRIE HEE £+ U Euich HZ MU &2 HF H

of T Elo] &3 Elo| Hel %2 Sot2 4EYE |XISGHE S L.

TR

Hxl
LIAF £212 & &= HF 1.4308.
2 El1.4305.
o= A3l 1.4310.
PA Q7IAM =2 HE .

EM OlF2|:
LAl 22|2, of2d Ax2l ol 42 M ZF 3
= E, oot & x4 obF el
CFsH Aizto| 22 H} Z4
- 22 3|A RAL 7021.
FAH RAL 2004.
E“L". RAL 1021.
i Z+ A RAL 3020.
= A4 RAL 6032.
I} 2t M RAL 5017.
F 3|A RAL 7035.

ok

zzzﬂw
WMWH

&

rO
o fob | fob 0 Of

0|&:
LHE 7I0|=7} QlE QIHA EFHXE S 722 HX|, A3 5 2
Q0| Al Roj| =2

°"A1IA1P-I
2oy F& K0638.
Z XM 24 K1290.

www.kipp.com - info@kipp.com 1/3



°
= I= 0|l A =2 A FJIO AEI (o] X
LI 710| =7} QU= QA ZRIx] AE|QIA A, BRI C, &3
Hf 2 U, LLE 812
=N
L1
L
1 ! | :
= |
| | |
! |
— !
| | T
N . | SW1
| W i
S ' I .
\ T \ =
-0,02
N D-0,04
Di|
o
m] .
S x> |
A |
Z= 29
FEHS Etel THE MA D D1 D2 L L1 L3 B B1 H SW1 Fx30° Aﬁ e
2 =2
F12 N F29. N
K1678.10605101 C A3|M RAL 7021 5 M10x1 16 46,7 26,3 15109 49 6 13 1,3 8 14
K1678.10606121 (o} 43| RAL 7021 6 M12x1,5 17,4 56,5 31519 13 58 8 14 1,8 8 15
K1678.10608161 C 43| RAL 7021 8 M16x1,5 21,6 72,6 42 26 17,7 8,110 19 2,3 15 35
K1678.10610201 C A3|M RAL 7021 10 M20x1,5 24,8 82,3 51,6 30 21,5 9,512 22 2.8 20 60
K1678.106051012 C Fo{ 23X RAL2004 5 M10x1 16 46,7 26,3 15 10,9 49 6 13 1,3 8 14
K1678.106061212 C F0{ 23X RAL2004 6 M12x1,5 17,4 56,5 31,519 13 58 8 14 1,8 8 15
K1678.106081612 C F0{ X RAL2004 8 M16x1,5 21,6 72,6 42 26 17,7 8,1 10 19 23 15 35
K1678.106102012 C Fof{ 23X RAL2004 10 M20x1,5 24,8 82,3 51,6 30 21,5 9,5 12 22 2,8 20 60
K1678.1060510116 C g2 & RAL 1021 5 M10x1 16 46,7 26,3 15109 49 6 13 1,3 8 14
K1678.1060612116 C gh2 2 RAL 1021 6 M12x1,5 17,4 565 31519 13 58 8 14 1,8 8 15
K1678.1060816116 C gh2 2 RAL 1021 8 M16x1,5 21,6 72,6 42 26 17,7 8110 19 23 15 35
K1678.1061020116 C ghe -2 RAL 1021 10 M20x1,5 24,8 82,3 51,6 30 21,5 9,5 12 22 2,8 20 60
K1678.1060510148 C AMES WZFRAL3020 5 M10x1 16 46,7 26,3 15 10,9 49 6 13 1,3 8 14
K1678.1060612148 C (MES WZFRAL 3020 6 M12x1,5 17,4 56,5 31,519 13 58 8 14 1,8 8 15
K1678.1060816148 C AES WZRAL3020 8 M16x1,5 21,6 72,6 42 26 17,7 8110 19 2,3 15 35
K1678.1061020148 C AE 5wz RAL3020 10 M20x1,5 24,8 82,3 51,6 30 21,5 9,512 22 28 20 60
K1678.1060510186 C Ala1d sMRAL6G032 5 M10x1 16 46,7 26,3 15 10,9 49 6 13 1,3 8 14
K1678.1060612186 C Al1d sMRAL6G032 6 M12x1,5 17,4 56,5 31,519 13 58 8 14 1,8 8 15
K1678.1060816186 C Al1d sMRAL6G032 8 M16x1,5 21,6 726 42 26 17,7 8,110 19 23 15 35
K1678.1061020186 C Al M RAL6032 10 M20x1,5 24,8 82,3 51,6 30 21,5 9,512 22 2,8 20 60
K1678.1060510187 C AMES o2 RAL5017 5 M10x1 16 46,7 26,3 15 10,9 49 6 13 1,3 8 14
K1678.1060612187 C AMES D RAL5017 6 M12x1,5 17,4 56,5 31,519 13 58 8 14 1,8 8 15
K1678.1060816187 (o} AMES O RAL5017 8 M16x1,5 21,6 72,6 42 26 17,7 8,110 19 23 15 35
K1678.1061020187 C A5 S o RAL5017 10 M20x1,5 24,8 82,3 51,6 30 21,5 9,512 22 28 20 60
K1678.1060510188 C Q48 3| M RAL 7035 5 M10x1 16 46,7 26,3 15109 49 6 13 1,3 8 14
K1678.1060612188 C Q48 3| M RAL 7035 6 M12x1,5 17,4 56,5 31,519 13 58 8 14 1,8 8 15
K1678.1060816188 ] 18t 3| RAL 7035 8 M16x1,5 216 72,6 42 26 17,7 8,110 19 2,3 15 35
K1678.1061020188 C 248t 3| M RAL 7035 10 M20x1,5 24,8 82,3 51,6 30 21,5 9,512 22 28 20 60

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



Kinn

LH-:-7}0I'=7} U= oI~ SRX] 2H|QIZ|A A8 EIRIC &=
Hl 24 Q) LIE eig
589

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



